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5-101.
For each table below, find the missing entries and write an equation. 5-101 HW Help eTool (Desmos). Homework Help %

a
Month (x) 01‘2‘3‘4‘5‘6
Population (y) 2|8 ‘ 32 ‘

b.

Year (x) 01‘2‘3‘4‘5‘6

Population (y) ‘5
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5-103.
Mr. C is such a mean teacher! The next time Mathias gets in trouble, Mr. C has designed a special detention for him. Mathias will have to go out into the
hall and stand exactly 100 meters away from the exit door and pause for a minute. Then he is allowed to walk exactly halfway to the door and pause for
another minute. Then he can again walk exactly half the remaining distance to the door and pause again, and so on. Mr. C says that when Mathias
reaches the door he can leave, unless he breaks the rules and goes more than halfway, even by a tiny amount. When can Mathias leave? Prove your

answer using multiple representations. Homework Help %
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5-104.
Simplify each expression. Homework Help %

a (2m*)(4m?) b2
PR d.(-22%)°

67
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5-107.
Solve each equation. Homework Help %

a(z+2)(z+3)=2"-10 biot+ie—T=12z
cl2z—1]= a2z
5-108.

For each sequence defined recursively, write the first 5 terms and then define it explicitly. Homework Help %

at(l) =12 b.a; =32
tn+1)=t(n) -5 anyy =
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5-109.
Multiple Choice: Which line below is parallel to y = — 22 + 5? Homework Help &

2.2 —3y=6 b2z +3y=6

c3z-2y=6 d.3z+2y=6
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